ER (BETRAE) BAREAERR-ER (10FAI%E)

BAfsL: uSv/h
No | BIEISFR GRS | BEE |®A | X AEES
5cm [ 50cm | 1m
1 |[EXxRAE 108118 | /K |#Hh [0.054 [0.052 [0.054
INPER - 2ES 5T (BER) BEBEIE—EX (108A%)
BT - uSv/h
No. | BIGEIBET (HIEA) | EEE | B AEES i ;
L IR IR m Al JE 3 fﬂi E/iﬁ ﬁ“ I%
5cm [ 50cm | 1m
1 | RN 108308 | A |BEN|0.043]0.042 [0.043
2 | PFTTINERR 10830H | A |KE+|0.043]0.043 |0.044
3 |BLER/IMER 10830H | A |KE+|0.051 |0.054 |0.051
4 |FINER 108308 | A |BEH |0.059 |0.064 |0.058
5 |MAMR/INERR 108308 | A |BEH |0.052 |0.049 |0.050
6 [/MEBINER 108308 | B | Bt |0.044 |0.045 |0.050
7 | BB/ NER 10830H | A |KE+|0.053 |0.056 |0.054
8 | PFTEE—hA 108308 | A |®EH |0.050 [0.048 |0.048
9 [FIFTE ZhEKR 108308 | A |EH |0.049 |0.045 |0.048
10 | P56 = dh g 108308 | A |BEt [0.048 |0.049 |0.050
=AfBE 0.059 |0.064 |0.058
AR =x/ME 0.043 |0.042 [0.043
FEE 0.049 |0.050 |0.050
BESS P
No. | BIFEIZAT CRIEHSR) BER |BEBR | XE wig | FhlE ZH
5cm | 50cm| Tm = 7k #t
1 |REEVSD 10868 | £ |2£Y |0.064 |0.067 |0.066 -
2 |zEx2ws57 (hriREH | 10A6H | £ [£Y [0.071 |0.065 |0.064
3 |BEXREFEYVSD 10868 | £ |2£Y |0.064 |0.064 |0.065
4 |RP2EHSD 10868 | € |£Y |0.052 |0.052 |0.051
5 |MMMEEY ST 10868 | £ |£Y |0.074 |0.066 |0.068
6 |MraxEs5D @wRES | 10108 | K |BEN|0.074 [0.077 |0.079
7 'MEEEZ®ESST | 10868 | £ |£Y [0.085(0.084 [0.083
8 |mEmeEsS>T (meREs) | 10H6H | € |£Y|0.090 (0.079 |0.087
9 [BEEHVST 108108 | X |KEHQ|0.067 |0.067 |0.061
10 | KEBHE=-%E9>7 | 1068 | € |£Y (0.090 [0.088 [0.089
=AfBE 0.090 |0.088 |0.089
FE =/ME 0.052 |0.052 [0.051
FiiE 0.073 |0.071 [0.071

X5, AEE, HhES5cmTHRIE




PRHLE - REAEOHRSREANEE—ER (10F8I%E)

No. | MEIBE (A | AER |8 | XE AEES AERIBEAE L
S5cm | 50cm | 1m | #i5 | #EEME | S£KHt
1 I E 10A2H A |£Y[0.073 |0.073 [0.067 |0.050 | 0.065 |0.058
2 |AIITREAE 10A2H A |£Y[0.061 |0.062 [0.056 - 0.074 [0.057
3 [HARRELE 10A2H A |£Y]0.059 [0.061 [0.058 [0.055 | 0.065 [0.069
4 |HSOVRAE 10A2H A |£Y[0.036 |0.040 [0.040 |{0.048 | 0.041 |0.049
5 [KEEFAE 10A2H A |£Y[0.051[0.048 [0.044 |[0.050 | 0.044 |0.048
6 |EACYILRENR 10A2H A |£Y [0.055]0.056 [0.053 |0.051 | 0.064 |0.063
7 [ NUHhURERE 10A2H A |£Y[0.043 |0.046 [0.047 |0.062 | 0.058 |0.059
8 |NB4y ERE 10A2H A |£Y[0.068 |0.066 [0.062 |0.062 | 0.064 |0.056
9 |HITEDHRENRE 10A2H A |£Y[0.070|0.075 [0.070 |0.053 | 0.064 |0.065
10 |7 Y-UM)LARE 10A2H A |£Y]0.053 [0.053 [0.050 [0.050 | 0.058 [0.063
11 | [TPERENE 10A2H A |£Y[0.064 |0.061 [0.061 |0.062 | 0.058 |0.056
12| LonNERENR 10A2H A |£Y]0.072 [0.071 [0.064 [0.050 | 0.064 [0.097
N ] 0.073 10.075 [0.070 |0.062 | 0.074 [0.097
NE =/ME 0.036 |0.040 (0.040 |0.048 | 0.041 ]0.048
FHE 0.059 [0.059 ]0.056 |0.054 [ 0.060 |0.062

- SR - RTY U TERMETHES c mTHRIE




